
B 1.7441
Issue 3-07 E

Hollow-Piston Cylinder
version with internal thread,
single and double acting, max. operating pressure 500 bar

Subject to change without notice

Römheld GmbH · Postfach 1253 · 35317 Laubach, Germany · Tel.: +49 (0) 64 05 / 89-0 · Fax: +49 (0) 64 05 / 89-211 Actual issue see www.roemheld.com

Description
The pistons of this cylinder range are provided
with a through hole and internal thread. In
connection with a standard tie rod and 
C-washer combination a variety of applicati-
ons is possible, see application examples. 

The thread in the piston can be drilled out, if
required. If the hollow-piston cylinder is moun-
ted onto movable parts, e.g. clamps, the oil
has to be supplied through a high-pressure
hose.

1752-004/-023
1754-004/-023
1755-004/-023

1756-004/-023
1757-004/-023
1758-004/-023

Hollow-piston cylinders in combination with
push-pull bolt and „C“-washer can be used
advantageously in many cases to clamp work-
pieces with centre openings.

In the shown machine table, the workpiece is
additionally supported by means of a work
support as per data sheet B 1.913 after clam-
ping with a hollow-piston cylinder in combina-
tion with a sequence valve as per data sheet
C 2.954.

The support plunger of the work support is
retracted in off-position to facilitate workpiece
loading. Contact is effected by means of
spring force.
The savings in workpiece exchange time,
compared to a mechanical clamping system
amounts to 58%.

This clamping fixture is for milling operation on
a light extruded rail. Workholding by means of
hollow-piston cylinders in individual clamping
stations mounted on a base plate. Positioning
and support of the rail is effected with two lon-
gitudinal members matching the cross section
of the rail.

Application examples

Installation possibilities

Workpiece

Hollow-piston cylinder

Important notes
For operating pressures exceeding 350 bar
only bolts, studs, or screws of material 10.9
must be used.

It is important to torque the lock nut used
sufficiently to prevent damaging the piston
threads.

Penetration of aggressive cutting lubricants
and coolants through the sintered metal air
filter into the cylinder’s interior should be avoi-
ded by appropriate arrangement or covering.

Operating conditions, tolerances and other
data see data sheet A 0.100.

When using single-acting swing clamps, it is
absolutely necessary to follow the instructions
for venting of the spring area on data sheet 
A 0.110.



Subject to change without noticeB 1.7441 / 3-07 E
2

Technical characteristics

Ø
 k

Ø d2

Ø c

G 1/4

p

o
q

b

Ø
 h

Ø
  il

4 Ø m Ø n

45
°

45
°

Ø e
Ø d1
Ø a

SW

f

s
g

Ø a
Ø d1
Ø e SW

s
f

g

G 1/4

p

Ø d2
Ø r
Ø b

Ø
 m

Ø
 k

Ø
 hØ
 l

Ø
 i

Ø
 c

4

Ø
 n

45
°

45
°

o

q

Bottom view Bottom view

Accessory: 
Flange

Port A

Port B

Port A

S
tr

ok
e

S
tr

ok
e

Accessory: 
4 socket head
cap screws

Bleeding by plug with sintered metal air filter (for s.a. version)
Port B

Version 1 Version 2

Version 1 1 1 2 2 2
Piston Ø [mm] 20 32 40 50 63 80
Pulling force 100 bar [kN] 2 6 9.4 14.7 23.1 37.7
Pulling force 500 bar [kN] 10 30 47 73.6 115.6 188.5
Pressure force 100 bar (d.a.) [kN] 2 4.8 7.6 11.9 18.6 30.6
Pressure force 500 bar (d.a.) [kN] 10 24 38 57.9 93 153
Spring return force (s.a.) [kN] 0.09 0.2 0.27 0.38 0.47 0.95
Piston area - stroke [cm2] 2.01 6.03 9.42 14.73 23.13 37.7
Piston area - return stroke [cm2] 2.01 4.89 7.65 11.58 18.6 30.61
Oil volume per 10 mm stroke [cm3] 2.01 6.03 9.42 14.73 23.13 37.7
Oil volume per 10 mm return stroke [cm3] 2.01 4.89 7.65 11.58 18.6 30.61
Ø a [mm] M40x1.5 M48x1.5 M60x1.5 M75x1.5 M90x2 M120x2
Ø b [mm] – 48 60 75 90 120
Ø c [mm] 65 72 85 105 125 160
Ø d1 [mm] 12 20 25 32 40 50
Ø d2 [mm] 12 16 20 25 32 40
Ø e x depth of thread [mm] M6x8 M10x12 M12x15 M16x20 M20x25 M24x30
f [mm] 30 28 34 60 72 100
g [mm] 58 68 80 94 116 137
Ø h [mm] 30 40 50 60 70 98
Ø i [mm] 52 60 72 90 108 140
Ø k [mm] 6.5 10.5 12.5 16.5 21 25
Ø l [mm] 60 68 82 72 87 117
Ø m x depth of thread [mm] M6x8 M6x8 M6x10 M8x10 M10x14 M12x15
Ø n [mm] 7 7 7 9 11 13.5
o [mm] 23 23 23 20 22 25
p [mm] 12 12 12 12 15 15
q [mm] 12 14 19 23 35 43
Ø r [mm] – – – 28 35 43
s [mm] 5 6 7 9 10 10
SW [mm] 10 17 22 27 36 46
Weight [kg] 0.8 1.1 1.8 2.5 4.4 9.7
Single acting with spring return
Stroke [mm] 6 8 10 12 16 20
Part-No. 1752-004 1754-004 1755-004 1756-004 1757-004 1758-004
Double acting
Stroke [mm] 10 12 16 20 32 40
Part-No. 1752-023 1754-023 1755-023 1756-023 1757-023 1758-023
Accessories
Flange 3456-310 3456-313 3456-312
Socket head cap screw 3300-237 3300-277 3300-054
Groove nut / DIN1804 / thread M40x1.5 M48x1.5 M60x1.5 M75x1.5 M90x2 M120x2
Part-No. 3300-699 3300-324 3300-411 3300-673 3300-412 3300-134

P
ul

lin
g

fo
rc

e

B
   

   
   

   
   

   
   

   
   

  A
R

et
ur

n 
st

ro
ke

   
   

   
   

   
  S

tr
ok

e

P
re

ss
ur

e 
fo

rc
e 

(d
.a

.) 
or

sp
rin

g 
re

tu
rn

 fo
rc

e 
(s

.a
.)



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialUnicodeMS
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


